MADE IN TAIWAN

=

NMRV | A B C | D(H7) |D1(J6)| E F G G1 | G2 H I L M |N(h8)| N1 (o) P Q R
030 54 | 20 | 80 14 9 97 | 32 | 55 | 63 | 51 | 40 | 30 | 56 | 65 | 55 | 29 | 65 | 75 | 44 | 57
040 | el | el e e | G |l s e - re||IEso || sl [0 B (B (s | e | e s | Ns sl || R e | s B 7] S
050 80 | 30 | 120 |25(24)| 14 | 144 | 49 | 80 | 92 | 74 | 60 | 50 | 85 | 8 | 70 | 435 | 85 | 100 | 64 | 84
063 100 | 40 | 144 | 25 (28) 19 174 | 67 95 1121/11190 72 63 103 [ 95 80 53 85 | 110 | 80 | 102
075 | 120 | 50 | 172 |28 (35 | 24 | 205 | 72 |1125| 120 | 109 | 86 | 75 | 112 | 115 | 95 | 57 | 11 | 140 | 93 | 119
090 | 140 | 50 | 208 |35(38) | 24 | 238 | 74 |129.5| 140 | 125 | 103 | 90 | 130 | 130 | 110 | 67 | 13 | 160 | 102 | 135
110 | 170 | 60 |2525| 42 28 | 295 | - | 160 | 155 | 142 |1275| 110 | 144 | 165 | 130 | 74 | 14 | 200 | 125 |1675
130 | 200 | 80 |2925| 45 30 |83 | - |[180 | 170 | 162 |1475| 130 | 155 | 215 | 180 | 81 | 16 | 250 | 140 |1875
150 | 240 | - | 340 50 - 400 | - | 210 | 200 | - [ 215 | 180 | 185 | 240 | 180 | 96 | 18 | 250 | 180 | 230

S KA KB KC KE  |ala1 KM | KN(HB) KO KP o O P % 11 | ke
F | FB|FL | F |FB|FL| F|FB|FL F|FB|FL|F |FB|FL| F | FB | FL | F |FB|FL| F |FB|FL

030[5.5 21 |27 |44 |545| - | - | 6| - |- |4 - |- [M5x11(nd) || 45|68| - | - |50 | - | - B5Mn4)| - - |80 -]-|70|-]-]5|8] -] 163 [102]12

040(6.5| 26 35|60 | 67 765|197 [ 7|9 [7|4| 5 |4 |M6x8(n4) [45| 45 |87 [11587 [ 60 |95 | 60 | 9(nd) [95(n4)|95(n4)[110[140[110] 95 | - |95 |6(6) | 4| - [20.8(21.8)|125(2.3

050 7|30 40|70 | 90(87.5(120( 9 |[10|9 | 5| 5 |5 |M8x10(nd) [45| 45 |90 [130]90 | 70 [110] 70 [11(n4)[9.5(n4)| 11(nd) [125[160[125|110| - [110[8(8) | 5 | M6 [28.3(27.3)|16.0| 3.5

063| 8 | 36 50 (85| 82| 99 [112|10[11[10| 6| 5 | 6 [M8x14(n.8) |45| 45 [150[165[150(115[130|115(11(n4)| 11(n4) | 11(n4) [180 [200[180]142| - [142|8(8) | 6 | M6 |28.3(31.3)[21.5| 6.2

075(10[ 40 {60 (90 |111| - | - |18] - |- |6 - | - [MBx14(n8) |45| 45 [165 - | - [120| - | - [14(n4)| - - |200| - | - [170] - | - [8(10)| 8 | M8 |31.3(38.3)[27.0| 9

090[11[ 45 [70[100|111| - | - [18] - [- | 6] - |- [M10x18(n8)|45| 45 [175] - | - [152| - | - [14(n4)| - - [210] - | - |200| - | - [t0t0)] 8 | M8 |38.3(41.3)|27.0| 13

110[ 14| 50 (85 [115[131| - | - |15 - |- | 6| - | - [M10x18(n8)[45| 45 [230| - | - [170] - | - [14(n8)| - - |280| - | - [260| - | - | 12 | 8[M10| 453 [31.0{35

130[15| 60 [100[120[140| - | - [15] - |- | 6] - |- [M12x21(n8)[45|22.5255| - | - [180] - | - [16(n8)| - - [320] - | - [290| - | - | 14 | 8 |M10] 488 [33.0]48

150{18[72.5[120(145| - | - | - [ - |- |-|-| - |- [M122(n8) [45| 45| - | - | - | - =| = - = |===l=1z=] 2]k . - |87

B, G2
|
©

b1Lf‘x

Il W&
Double extension worm shaft Torque Arm
G2 | d(j6) B f b1 t1 K1 G

030 | 45 9 20 g 3 | 102 gig gg 1: 12745 : 12
ggg :i :1 22 N-IG : 112: PC 040 | 100 | 14 | 315 | 10 | 18

050 | 100 | 14 | 385 | 10 | 18
0100 SIS0 (1Y el | gl P | D P D: 063 | 150 | 14 | 49 | 10 | 18
075 | 90 24 50 M8 8 27 PC 063 | 105 | 11 | 140 (63B5) | 11 075 | 200 | 25 | 475 | 20 | 30
090 108 24 50 M8 8 27 PC 071|120 | 14 | 160 (71B5) | 14 09 | 200 | 25 | 575 | 20 | 30
110 135 28 60 M10 8 31 PC 080| 160 | 19 | 200 (80B5) | 19 110 | 250 | 30 62 25 | 35
130 | 155 30 80 M10 8 33 PC 090 | 160 | 24 | 200 (90B5) | 24 130 | 250 | 30 69 25 | 35




